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® FRfd PLC #2010, RS232 211, &M LAN 42110, RS485 #:11, USB 4211,
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CS9919BSI

0.050kV ~ 5.000kV

1(1%+0.2%HETE)

A%

100W (5.000kV/20mA)

20mA

0~ 20mA,0=HIHF PR

200uA. 2mA, 20mA

3%

2% (ZHiEAbpRMEmEL)

13~15

DDS+IHg

0.35~999.9s 0=E8JF EFHAtAIR

0.3s~999.9s 0=1ELEM

0.3s ~999.9s 0=F8/% FpEATIEIR

0.0s ~999.9s 0=[alfRAT a)><

4

N &z, G#&E={

0.050kV ~ 6.000kV

£(1%+0.2%HEFE)

1A%

60W (6.000kV/10mA)

10mA

2uA. 20uA. 200uA. 2mA. 10mA

<5% (6kV/10mA)

<200ms

10mA

0.35~999.9s 0=E3JE_-FHAtiElx

0.3s ~999.9s 0=1ELE Wi

0.3s ~999.9s 0=F8/% FpEATIEIR

0.0s ~ 999.9s 0=|EIF@RTEIR

0.3s ~999.9s 0=3ERTREZAT A<
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N &z, G#&E={

0.050kV ~ 5.000kV

0.050kV ~ 6.000kV

£(1%+0.2%HEFE)

v

H75HRME

0 ~ 20mA

0 ~ 10mA

200uA £: 0.1TuA, 2mA&Y: TuA, 20mA #: 10uA

2uA#4: 0.00TuA, 20uA £4: 0.0TuA, 200uA#4: 0.1uA, 2mA 4 TuA, TOmA £: 10uA

+(1%+0.5% R 2F2)
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GND #&z{: RETURN it 75 FLOAT #&z{: RETURN imASEH175

0~999.9s

0.1s

+ (0.1%+50ms)




